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Triangle Proofs:

If it is not specified, prove triangles are congruent

To prove triangles are congruent, prove 3 pairs of sides/angles are congruent
To prove segments or angles, use CPCTC

*If you get stuck, make something up and keep on going!

1) Do a mini proof with your givens

Line bisector creates two congruent segments

Midpoint creates two congruent segments

Angle bisector creates two congruent angles

Perpendicular lines create two congruent right angles

Parallel lines cut by a transversal create congruent alternate interior angles

*Perpendicular bisector is perpendicular and line bisector (1 pair of congruent right angles, 1 pair of congruent segs)
*If segments bisect each other, they are both cut in half (2 pairs of congruent segments)

* A median intersects a segment at its midpoint

*An altitude is perpendicular to the base

2) Use additional tools:

Vertical Angles are congruent (Look for an X)

Reflexive Property (A side/angle is in both triangles and is congruent to itself)

Isosceles Triangles (In a triangle, congruent angles are opposite congruent sides)

Addition and Subtraction Property (If you need more or less of a shared side)

*You must use three congruent statements to get one congruent statement for the triangles. The two that you are
adding/subtracting and the one that you want to prove in the triangle.
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Parallelogram Theorems Circle Theorems (Look for inscribed angles)
A parallelogram/rectangle/rhombus/square has: Angles inscribed to the same arc are congruent
Two pairs of opposite sides congruent An angle inscribed to a semicircle is a right angle
Two pairs of opposite sides parallel A tangent and a radius/diameter form a right
Diagonals that bisect each other angles
Opposite angles congruent All radii/diameters of a circle are congruent
A rectangle/square has: Congruent arcs have congruent chords have congruent
Congruent right angles central angles
Congruent diagonals Parallel Lines intercept congruent arcs
A rhombus/square has: Tangents drawn from the same point are congruent
Consecutive sides congruent
Perpendicular diagonals
Diagonals that bisect the angles

To prove triangles are SIMILAR, prove AA = AA

If asked to prove a proportion/multiplication:

1) Prove triangles are similar

2) Corresponding Sides of Similar Triangle are In Proportion (CSSTIP)

3) Cross Products are Equal A A2 AN
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Mini Proofs

If it is not specified, prove triangles are congruent
To prove triangles are congruent, prove 3 pairs of sides/angles are congruent
To prove segments or angles, use CPCTC

*If you get stuck, make something up and keep on going!

1) Do a mini proof with your givens
Altitude creates congruent right angles

. t
Median creates congruent segments
Line bisector creates congruent segments o S R
Midpoint creates congruent segments I e X Xm0y

Angle bisector creates congruent angles

Perpendicular lines create congruent right angles

When given parallel lines:

Corresponding angles are congruent OR Alternate interior angles are congruent OR
Alternate exterior angles are congruent

2) Use additional tools:
Vertical Angles are congruent (Look for an X)
Reflexive Property (A side/angle is congruent to itself)
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14. IK is the perpendicular bisector of NP
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Reflexive Property and Vertical Angles

1 Given: None
Prove: ALNM = ALNK
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2. Given: None

Prove: ADBA = ADBC
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Prove: AABC ~ AADE
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. 8 Given: None
Prove: A4EB = ABDA
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Methods for Proving Triangles are Congruent
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Congruent Triangle Methods with Sequences of Rigid Motions
If a sequence of rigid motions is performed, the image is CONGRUENT to the original!

1. Which statement is sufficient evidence that ADEF is congruent to AABC?
X 4B-DEandBC=EF S5
£D= 24, /B= 2E, £C= 2F NAK

B

(3)) There is a sequence of rigid motions that i

maps AE AB onto DE, BC onto EF and AC
onto DF, s S _S 4

ww motions that D
onto AB onto DE, and C
ZBonto £LE

'H\ 50 SA A F
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2, Tnangles YEG and POM are two distinct non-right triangles such that £ZG = Z34. Which

tatement is sufficient to prove A YEG is always congruent to APOM?

; LE=Z0and LY = LP .AA A @ There is a sequence of rigid motions that A S
maps £ onto £O and YE onto PO.

%{ Y& = P and yg PO A S_} % There is a sequence of rigid motions that

maps peintFente-peiat P and ¥& onto
szz\ /f}: h -

3. In the two distinct acute triangles ABC and DEF, £B = £E. Triangles ABC and DEF
are congruent when there is a sequence r1g1 motions that maps
1) Z£A onto £D, and £C onto LF 3 ZC onto ZF, and BC onto . EF ASA

2) 4AC onto DF, and BC onto EF ASS and AB onto DE A 3
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Proving Triangles are Congruent

1. Given: BD bisects .~ ADC 5 ’LQ“LM
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To prove triangles are SIMILAR, prove AA = AA
If asked to prove a proportion/multiplication:
1) Prove triangles are similar
2) Corresponding Sides of Similar Triangle are In Proportion (CSSTIP)

3) Cross Products are Equal S-\-Gt *QW A‘B @&60/1 'S
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Euclidean Proofs with Parallelogram and Circle Theorems

Parallelogram Theorems

Circle Theorems

Parallelogram Properties
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All radii/diameters of a circle are congruent
Angles inscribed to the same arc are congruent
An angle inscribed to a semicircle is a right
angle

A tangent and a radius/diameter form a right

Congruent arcs have congruent chords have
congruent central angles

Parallel Lines intercept congruent arcs
Tangents drawn from the same point are
congruent

1. Given: Parallelogram ABCD.
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3. GiveEBC_D_is arectangle, M is the midpoint of AC
Prove: DM = BM
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5. Given: Parallelogram ABCD, BFLAFD, and DE L BEC B E
Prove: AF =EC ‘
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6. Given: ABCD is a parallelogram, BE L AC,and DF L AC.
Prove: ZABE = ZCDF
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Z. Given: Chords ADand BC of circle O intersect at E, AB = CD
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11. In the diagram below, secant ACD and tangent AB are drawn from external point 4 to

circle O.
Prove the theorem:  If a secant and a tangent are drawn to a circle from an external

point, the product of the lengths of the secant. segment and its external segment equals the
length of the tangent segment squared. &(5 . AD = AR>S ot bfs.‘ab’u/bb

12. Given: Circle O, chords 4B and CD intersect at £
Theorem: 1f two chords intersect in a circle, the product of the lengths of the segments of
one chord is equal to the product of the lengths of the segments of the other chord. Prove
this theorem by provingAZ - £B = CE - EDi-pwwo(l bacleanl;
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Proving Triangles Isosceles Mim;\ Proofs

1. Given: AADB = AADC
Prove: ABAC is isosceles
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Proving Parallel Mini Proofs (PR2)
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4. Givenn LEAG = LFCG
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Triangle Proofs Using CPCTC

1. Given: 7N bisects .~ KLM
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3. Given: OF is the perpendicular bisector of W7z
Prgve: AWFL is isosceles —>\/
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C/ﬁ F s the gl Fefe boke b ﬂer ~“ »
D’-SL?L"‘OK (_fg U.)}/ i ] I >
@LOO L. @A line biSector cleakes '
; - Jwo [Q@IJMI’ Sej/%/r'ﬁ
'534%{%6:0" Q{)wp% ubr s Lolm (09914 seat Ngh* Q"’U[Z
L) OF=0F prleave Pro porhy
($) AWoFEALOF SASTSAS
D GESCF gL @ G - - b
e s 0 sscls Yol o oy s

@ N s Secgeles

4. Given: ZADB = ZADC

;1-13 bisects ZBAC
Prove: AABC is isosceles

M b Son s
(1) L DR ADC %:J-Wz)
D) hiSads £ BAC iV
@AD ’%7\_” C/P(k \t)li(f‘tf)( L/éqie) fwn Q)f)j{jo/:\LC?rUD.

D=2C AD (
8L§“A AD 3@%‘@ pf\@é:
GNHRSAADC (S W ASAS:
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5. Given: SE and AR bisect each other.

S<g A
Prove that g”ﬁ ¥ B /
Slalemiaky Doasons e
(5E anl AR bseet | D g R e
QC(C]’\ o thic- @ A L }DISFC’N){‘ Cleaks 4w (L‘:’U‘/Jgﬂl_ Sw‘(.aj

(9 32=6E, B=BA @ Veckial cingles ate (091t
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A\ SBA=AERR |5 CPerc e
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@J\Y\QTE Compurt allinak (ategor angles

6. Given: SC LCL., HA L AN, SY = KN, and SC = AN. S

Prove EZH HA ;%\Y )
ks ) Pgsoas i
DSCLLL FALAN  |(Dgwe, %

@eSCTE AR (DPaudiecdec s faim .
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GOASCr=ANAK @ HLSHL
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7. Given: Of is the perpendicular bisector of ML
Prove: AMLO is isosceles M

s talonarts Basons
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(l)o: ;s e P«WWP W gues I
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8. Given: Muﬁa NA=HO
Prove: NO bisects HA
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Mr. Schlansky Geometry i

Perpendicular Bisector Multiple Choice

Perpendicular bisector creates
-two pairs of congruent triangles so all of their corresponding parts are congruent due to CPCTC
-two isosceles triangles

Pt
N\

The top 2 small triangles are congruent and the top big triangle is isosceles
The bottom 2 small triangles are congruent and the bottom big triangle is isosceles

1. In the diagram below of quadrilateral ADBE, D is the perpendicular bisector of 4Z.

Which statement is always true? D
D). zapc = 2800 3) AD=3E /4
2) ZEBAC = LDAC 4) 4E = AD /
x4 - t B
\\ ¢ /
L /
vy
P
E

2. Line segment £4 is the perpendicular bisector of Z7, and Z& and TZ are drawn.

Which conclusion can nor be proven?
1) Z4 bisects angle ZET. /U

@ Triangle EZT is equilateral. >

3) #4 is a median of triangle EZT.
4) Angle Z is congruent to angle T. /




3. Segment CD is the perpendicular bisector of A5 at E. Which pair of segments does rot have
to be congruent?
1) anBD

2) AC.5C

ol v
()% = »</

4. In A8, BL is the perpendicular bisector of AT, Based upon this information, which
statements below can be proven‘7 E

I. .J.J is a median.
[1. BD bisects A&, l/
L. & A8 is isosceles.

1) TandlIl, only £
2) [ andIll, only A )

3) Il and I, only

@)1 IL. and 11

5. In triangle MAH below, ! 44T is the perpendicular bisector of AH .

/vVhlch statement is 1ot aviays true? /
1

) AMAF is isosceles: AT 1s isosceles. 3) 1T bisects £AWH . 4) 24 and _TALH are
complementary
e | "\
27 | N
A s H

6. Segment AB yhe perpendicular bisector of CDat point M. Which statement is always true?

@csgm

2) Ch= AF /
3) AACD=ABCD <
4) AACM =ABCM '  ( D
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Isosceles Triangle Theorem Mini Proofs

In a triangle, congruent angles are opposite congruent sides

If the given sides/angles are not sides/angles of the triangles you are trying to prove,
if they make an isosceles triangle. Conclude the sides/angles opposite the ones you are given.

I. Given: ZABC= /ACB é-}-éll—éwr’\\:) QQC(SO/\)

Prove: AADB=AADC — A -
A (orecsches | Odwer
@ /@9;\2 O Tascols Thaml Theoen,

\
N I |
L ) C
2.Given: C4 £ CB

Prove: AADM = ABEM slalemarks | Beasons

C @ A=CB (Ywen
@Z MMQL@’) @MQIQ 1 T/W/)y(z Theolem

A M B
3. Given: MN = NT ,ZROS = ZRSO 34;‘71””)/;{») /QQ%U’LS

Prove: AMOR= ATSR gy ===
OMNSNT 10 gies

O.0mPSeSTL (D Rencelns Mok Theofem
Ye60s () sescelos Fritnle Fheotem

28
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Addition and Subtraction Property Mini Proofs (PR4)

1. Given:

AB=CD

Prove: AAXC = ABYD

@x@gg

o B +P>L CD 1B

(D gl
Diefluare fofets
5&M1Li0/) WJD@@

2. Given: AC=BD
Prove: AAXB = ADYC

Sderemints

0 A(j‘%D
DBz “%C
©) D=

Acﬂ%c %D BC

Serkiants |4 sen.s
0 3 WVin
e M)O@(b

(D) ssttuckion p/aj)oijj

3. Given: UL =TE
Prove: ACUT = AREL

SJA‘EWWB

Doasons

DULSIE
Qe

VTS

o
UL g 1§ -TE L

/ d}x\/\
6{& Lixive Wo?@fj

@ S ubmc Hon p/oQG (*:)

X Y




4. Given: WN = RE O V
Prove: AWOR = ANVE

Shkmk | Peaons L
N KE (D gVen
gﬁQ” e yiedlaive pioPery Ly NN
Q@Eﬁ NB  (@addiiva Pigecty

waNQ =NR RE |

e

5. Given: EJ =GO
Prove: ATGE = AYJO

Shekmnls (BhasonS
L ;/;—/ Davon
%)?5 ”‘%DJ %m@x,v@ Plopecty
815& jD @Su}ﬁ\@d—\'w p@pp(ﬁ

s

EG 55,(90—{9

6. Given: AE = GC EB=DG
Iif Argc= MDA

ﬁlalmn\ﬁ @4%
N EEC N ONI
@ Fe= e @gl\/@ﬂ

@ %@Z b :@ ﬂz}ji)fm P/&P@ @




7. Given: SY =~ HC
Prove: AASH = AKCY

Sladomals [

AW, Cpf) Wen
%H%L W (Dl foperty
@SH’“‘(L 2)Sulyuction p@/)@@

S =R

N

8. Given: CE = AH ED=BH
Prove: adxe=x81D NCDAZ AABC

Slelomns | Daspns
DB |Dgun
@ 2= Bl TQ}Q))VQO

A CpzBh  (@nddhon poPe
OB y
cgran=MB 4

9. Given: AH =FC
Prove: AAFE = ACHG

glquévmw\g @430“5

Fl. l]/@/)
(%\A%NH 2 O Mlm le Plorect
©) AF” 0 (@addibion W)P@(g)

AH*HF F(jHl’



10. Given: ZEIN = ZHIC
Prove: ZEIC = /HIN

ISJﬂl%mm\S | asons
(D Exna | O gwen
O, NE= NI |O el 4%90@
Grexcsehm (Badihn Pppedy

£ EMN b NI~ YTC NFC

11. Given: ZEIC =~ /HIN
Prove: ZEIN = /HIC

ﬁqkm:ﬂj 1&@5@45 N
Ozema ey | Ogives c

@ LNTCE N (D 1 %Flm\@ Pﬁﬂwﬁ
BBy e (Bstckivn popecy !
o )

LET - NIz, I |
— 2NIC

12. Given: LTLA= /TYO, /ALY = ZOYL
Prove: ZTLY = /TYL

S-lqleméﬂl“) &q)of; 5
W, TLA.TTO @@M N
Qehizcon |Qdns

&) LTS TS [ apu tHy
o’ P/D pe/ij :

———

STLA ALY = TR0

)



Euclidean Triangle Proofs with Additional Tools
Vertical Angles are congruent (Look for an X)
Reflexive Property (A side/angle is congruent to itself)
Isosceles Triangles (In a triangle, congruent angles are opposite congruent sides)
Addition and Subtraction Property (If you need more or less of a shared side)
*You must use three congruent statements to get one congruent statement for the triangles. The
two that you are adding/subtracting and the one that you want to prove in the triangle.
Totmen Uzl C
Prove: 1T 2 IE v o~ L’
shkmts fisols e
i ST win L
HUL=TE
& f=r % el PO

(.) Vit e V 3U'fmdm ;‘?){}Qﬁj

cls
]'az mee;LQV UZ. VW =Yz, YO = WU >’rﬁf’4?“’”mLJ t&ﬁm‘)
Prove: ~, Q= ~U - G) (Q\}"L_)__Z: @SEW/\
@ VT; =12 @8 iAA |
a u CEN @mﬂmw Plopery
X @ VTM MJiLIM /}Qﬁgﬂj
b o , Vw%@‘? T2y

\M} Z=tol Qe
AQyrzAvaw '@ Sss=sss

7 2>y D cparc

7 Gi . LABC ~ ZACB 4190 ks ZBAC
2. Given: o= . AD bisects Siodemnts | @{,&)’D
Prove: BD= DC OL ABC‘LACB @3'”4
! O3 o uml, (019t

Gle Oﬂﬁ)&'{é 60')7/JPA¥ SieleJ
2B
@i gy Wwdoresede; LS anye

2 Poper b

R AD biseds 2R4C
DA S2(AD
(9 H=Ad

0} AMD“A(AD

B C Bbf\[x‘ @ C‘({—Tt—'
Slalemuk | Basons
3. Given: /B= /S, ABHST AR = TC@LB;\LS @jivfﬁ
Prove: BC =SR @ @ \\ST .

Diislal liias (e Wiyl
EIMQ Copyiint o Netmle b amlyy

g G (eriyR Popens
\ACSQT (B adion Ffa@gﬁ
AQ»P’C ﬁ}QL (JAM\AA) - "
(DABAZASTR ‘63 MSATC
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4. Given: In AABC, CA=CB, AR=BS., DR 1 AC, &,&wb
and DS L BC _ Ol el Q) Givka
Prove: DR = DS @ i A_.;\ L3 ”J‘Tn a klwuli ["j/J ak anglo Q&
S AR 3S Uil agment ke s
W pRLAC, (SMBC e
@‘-D@ =3 RSD el iced Q i w‘:;fn
,\ LL@J’W’I* {\”?’l ng
B @ >0S @ Cf-’{TC
5. Given: 5O L O, T4 L OA, DO= T4, 0C = 4G Sakemi/t) Basony
Prove: DG = TC
O DAL, TALSA O i1
D @Llpe A?EZL_Q %‘ Pefﬁw,@ kg
¢ A GEBSTL o i bt
0" 1 G Qoc=AS J«w
B3 Giofurise paperh
T (s 0(;{\0-& @g@{{mﬁm Puf ,Jj
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6. Given:  MN = NT ZROS = ZRSO_LORM = ZSRT
Prove: AMOR = ATSR
L lesunty (oasony
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Mr. Schlansky Geometry

Proving Alternate Interior Angles Given Parallelogram Mini Proofs (PR1)

1. Given HOPE,is a parallelogram, prove AJOY = AGET H L 0

5lulevm/ﬂr k ‘

DHOPE is ¢ 4um D9iven -
é)éli‘a; ’ e Amlﬂllb@m }\u) pa/ql&l lvzs
- (Wrby a fansvesal conith foms L /
Copyfient albeinate mendl dagls.

S m%ﬂé(ig;n AB}C@‘E fyg f);lrallelogram, prove ABCE = ADAF
OABLD 15 apyun |Dgiven L
Q) Ll=2) & Patalllogsm by fitalla] lings oA
- 3 q ‘fmnsl/e/)'%/ wh'tV @lm (0991 pnt
aldemale mieAdrangly

‘ 3. Given MATH is a parallelogram, prove AHAT ~ AAEH
Shoknks o0
G)mA;T\H iSa pyam (haiven _ e
o mhlbloc/am has a/’m?l (s et
@ Ll '—49‘ %%q -(»mr&)u /3-1/ WM;L/L\ i-‘o’m_g" (mgﬂ/oﬂ

alleimak 1Medor anyles

4. Given ABCD is a parallelogram, prove AAEH ~ ACFH

Slabaents oasons
DASD isa pgm | DIk |
@iﬁs&g 'sjil Dk panlipyon has Duild
Jiis (k9 o tminsves

nin SoimS congoent
glelnale Nl anglt)
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Euclidean Parallelogram Proofs/Parallelogram Properties
To prove parallelograms: Always prove parallelogram first. You will probably have
to use congruent triangles with CPCTC to get at least one of the properties.

1. Quadrilateral ABCD with diagonals AC and ED is shown in the diagram below.

Which information is nof enough to prove ABCD is a parallelogram?

) a5= CD and EIIDE‘@Q,/ 5 e
2) AB=CDand BC=DA A¥F .-
3P 4B= a—DandEEH;lB;‘;;T p'Y

4) A4B| DC and BC || 4D A5 A D

L7

2. Quadrilateral ABCD has diagonals AC and ED. Which information is nof sufficient to
prove ABCD is a parallelogram? '

3 <
1) AC and BD bisect each other. \ E %‘/
2) AF=CDand BC=ADXYZ y D
71 /

3) A_E‘;C_'Iiandzgﬂa) AF

@E‘s?and%“@@
Pal

B Quadrilateral BEST has diagonals that intersect at point D. Which statement
would rot be sufficient to prove quadrilateral BEST is a parallelogram?

1) BD=5Dand BED = TD G
2) BE =&5T and S = T8

!

)} B5 = THand BE || T5
4) 25| BT and BE || TS 5 "]

4. In the diagram below, lines £ and m intersect lines » and p to create the shaded
quadrilateral as shown.

Which congruence statement would be sufficient to prove the quadrilateral is a

parallelogram?
1) Zl=s6and £9= 214 3), £5=27and £10= £15
2) ZS=s10and L6 = £ 4) Jz6=s9and £9= 211

k63



5. Given: SA=BR, AB=SR A 1] B
5_1“ rove: SABR i is aparallelogram -

o

DY
Qsé /QIU n hiydeo @iy S

R
A %m}f “ YO oSk sidhy (ongrent
6. Given: SAHBR AB||SR A — B
ﬂrove SABR is a parallelogram a4
Starmat | ggyns
Dagjym -
/%} 5/ ﬁ S Fe R

1D G

fmgém

7. Given: SA= BR SA||BR

SRS [ sy f/ 72/
O)SA:@/MHB)Q ()jnl(m
TN & |
(\ﬁéﬂ/b’l@?ﬂ; .;)j}r W{M@/m W} ot 0(/7 Ogﬁﬁfﬁ/l@g@ (Oy/d()ﬁll(/d p“/f/é/

8. Given: Zl=/2, [3= /4 ‘N ] _Q
rove NRQW is a parallelogram \ ’

Sheknonts | Ppyspns

(D 234 | Dqen _ AN
Ovlﬁzfﬂmﬁ%w( M) LV}EJ }71)\{)51/0(56{ %O{m C()’)j(d}/l‘rallf ma\e

OB 51y e o P
. leen AB=CD, L1= /2 N
Prove: ABCD is a parallelogram
Sl«lemn by g&%mj 2

~ 1
A /U B

DA fd//f[&iqwm hy Jeo ity o sopsie s parill

m{eﬂofang s

(DAB=
M= Wy
é/&l @’ | PMM [0 Cme o Aransvesy £olm (o ﬁN@AJ‘ “‘?/Wk‘(’k""mﬁ@

%ﬁg% S a @A ol bl@jldw My | Pl of offsie ey (o {uesf ol P Wb



PART IV PARALLELOGRAM PROOFS!
1) Prove the parallelogram (Pages 36-37). You may need to prove sides are parallel using
alternate interior angles (Pages 20-21)

T fuis &8ssk sdy

gie. (@ \Jtaa F

3
3
bl
i,

Tuo Ry ¢F opftsde i
7 L @ ]

Two o of opfESik ande
. qre C@?jfw/ys-’
Oi@ﬂdul) {)BPL(‘ each cihpe

/ /G puit & g sty
i aie @yipent aad paseil)

Loe'e3hs *8 le

2) Use the parallelogram to prove corresponding parts of triangles are congruent (Pages 14-16).

Expect to prove alternate interior angles are congruent! (Page 35). Opposite sides are
congruent is also very common.

If proving sides/angles: If proving multiplication

3) Expect to use addition/subtraction property 3) Expect to use perpendicular lines form

(Pages 29-31). congruent right angles.

4) State the triangles are congruent 4) Work backwards to similar triangles (Pages
5) State the sides/angles with reason CPCTC 12-13)

38
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Parallelogram Proofs Part IV

1. In quadnlateral HOPE below, EH = OP , BP=OH EJ =0OG and TG and ¥ arc

perpendicular to diagonal £0 at points G and J, respectively. Prove that Z&& ¥J \\_/—\
TGs - )

Skilemats | fasony ) ./

)Jven |

\EH QP]:\ ZON \L \ L £,
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3)41?33-—
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\'E,

o T B ELE T |

2. In quadrilateral SACK, ZKSY = /ACH , SK = AC , SY=CH . Prove

LSAH = ZCKY
5 NORRY) l‘r’h‘/’ 7) | \L))l)
iven
LKST*U%CH 05
M Fos {&/(&x’llzl It (vkhya Jemsyonal (ede
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3. Inthe dlagram below of quadrilateral FACT, BR intersects diagonal AT at E, AF | C'_Z”,
and AF = CT. Prove (AB)(TE) = (AEXTR)

stabemats 1 Wigsens.
D RPUCTARRCT W wen
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TE \ & 35TE
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4. Given: Quadrilateral MATH, HM = AT HT = AM , HE L MEA4, and HALAT.
Prove: 7TAe HA = HE» TH

Shatemiaty V%&mgﬁwww
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5. In the diagram of quadrilateral A8CD below, AB = CD, and AB|| CD. Segments CE and AF

are drawn to diagonal BD such that BE = DF. Prove: ZBAF = /DCE .
}L Lnﬂl/’b Caens

OAE= CD}% | Dgwes

¢ o/);b,,k
Dol k_))lrp‘éjr(m hes | Pﬂl‘(u
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(DBF=ED (D adbibion Prpedy E|&)S4.
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6. Given: AE=CG , BE = DG, AH =CF, AD = CB
Prove: EF =GI{
et \bgsns

(U FE=CC (Dgven
@ BE ;071 @ﬂ\Vﬁ/\
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7. Given: Quadrilateral ABCD, AC and EF intersect at H, ADIIBC and AD = BC'. Prove:

(BEH)(CH) = (FH)(AH)

s%h it
e
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@A’Pﬁfq‘& Vi hlfl) ﬁlMZé{ {IWJ (J/k’ bj r-}\/z,{/)) ,,zma,/
tnith (,/é’qlé - QH—(’(M‘( M]-c"(‘l()f‘omy@

SAERELL.

9 AN:M ~NFCH

@ _ _FHh
I\T R

(B! (EWCH) =CFAMAW) |

4
(SSTHP
o T

Coss P/JC/UCB qale 66()::([

M AA

8.Given: AB=DC, AD=BC, AF =GC, BH = DE

Prove: EF =GH
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9. Given: Quadrilateral ABCD, AB=CD, AB I C_’D-, diagonal AC intersects EF at G, and
DE = BF. Prove: G is the midpoint of £
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IO Given: KCHIN KC=IN, ALLKI,TD L CN .Prove KLe NT = = DN » KA
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Proving Rectangles/Rhombuses/Squares MC and Mini Proofs
To prove a rectangle:
1) Prove it is a parallelogram =

g i /
. / N QpAC
2) Prove one of the two rectangle pictures A Fase ke
To prove a rhombus: {nnie SA5 pepebic
1) Prove it is a parallelogram oy = Conguent dagorels
s L e ARG
2) Prove one of the three rhombus pictures *
// \\..

To prove a square: Yol e BBt
1) Prove it is a parallelogram % J'"»f,b}‘"i ‘{’% i}r Ll
2) Prove one of the two rectangle pictures AND one w e o

of the two rhombus pictures.

To prove a rectangle is a square: . anges

Prove one of the three rhombus pictures

Cop Lup o MH€
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To prove a rhombus is a square: dle et
Prove one of the two rectangle pictures )
1. A parallelogram must be a rhombus when its 2. A parallelogram must be a rectangle when its
1) Diagonals are congruent. 1) diagonals are perpendicular
2) Opposite sides are parallel. @ diagonals are congruent
(3) Diagonals are perpendicular. 3) opposite sides are parallel
4) Opposite angles are congruent. 4) opposite sides are congruent
3. A rectangle must be a square when its 4. A thombus must be a square when
1) angles are right angles 1) its consecutive sides are congruent
2) diagonals are congruent 2)At has a right angle
()consecutive sides are congruent 3) its opposite angles are congruent
4) opposite sides are parallel 4) its diagonals are perpendicular to each other

5. A parallelogram must be a rhombus when its 6. A rthombus must be a square when its
1) diagonals bisect its angles 1) diagonals bisect its angles

2) opposite angles are congruent 2) opposite angles are congruent

3) angles are right angles BPdiagonals are congruent

4) opposite sides are parallel 4) opposite sides are parallel
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Mr. Schlansky Geometry
Stk ey hobh o
Proving Rectangles/Rhombuses/Squares Mini Proofs
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7. Given: QUIK is a parallelogram, £LQUH-=AKITF

Prove: QUIK is a rectangle
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g@. Given: PQRS is a parallelogram, PR1SO.
Prove: PQRS is a thombus
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q 3. Given: MEOW is a rﬁombus MO =WE
Prove: MEOW is a square
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0 #. Given: MEOW is a rectangle, ME = EO M | E
Prove: MEOW is a square

it #. Given: DEGB is a parallelogram, BF bisects Z CBA C
Prove: DEGB is a rhombus
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1}8. Given: WXRK is a parallelogram, KW LWX
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Proving All Parallelograms Part IV

1. In the diagram of parallelogram ABCD below, EJ_C'ED, DF 1 BFC , CE = CF,
Prove ABCD is a rhombus. ”
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2. Given: ﬁHE,QLE,B_C_LE B, " >\ C
Prove: ABCD is a rectangle ' 2y
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3. Given: BERT is a rectangle, BA is the perpendicular bisector of TE . B Il B
Prove BERT is a square.
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